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1.8tuegn AT 186,367 186,367 0
ez 132)8 w2 A ol A A2
2. 5 A I A A= 106,316 27,309 78,007 (S HAITIHREAAT K ARAT 500,000
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3. [zluAdAsF 760 760 0
1. g Rk=8H 320 320 0
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. [xxTHAE 3,240 3,240 0
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4. [Z]a 7 o) 5] 210 210 0
1. gRrgH-5x1n 210 210 0
5. [=]5tF 35N 5,000 0 5,000
1Ledsd 2,750 0| 2,750 BHAATIBA 1 30,0009 x4xH20 2,400,000
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1. A& 4,950 0 4,950 ff gg—éiigiﬂzf %o EE 4,950,000
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1.[=]gAs LA 1,400 1,400 0
1.3 B ) 1,400 1,400 0
2.[z]13}4 3] 2,900 2,900 0
1.9 2,900 2,900 0
3. [Z]1TF S5 2,100 2,100 0
1.9 2,100 2,100 0
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1.9 210 210 0
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6. [Z=]u B L7147 150 150 0
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014 20201d 04 17¢ 10A] 348 32% 10 AR EngH 2 x5 st




20201 &= M| = of 2HTE Al A

of AR F713] (ch9l 1)
e IR NESIEXC )
49w | An Avgs  gagqus | S Rt g

2. AFAITHSE 5,400 9,740 -4,340
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Zxdkn] 0 -1,000,0009%13)= -1,000,000

Aulg 7h2H] 0 -860,000+13]= -860,000

JgEL e ¢ -1,000,000913]= -1,000,000
2. [2]548% 0 1,400  -1,400

1. &g ) 0 1,400)  -1,400|&5H] 2 EFTY  -1,400,0009+13]= 1,400,000
3. [=]AFE5H 1,600 1,600 0
1. %89 1,600 1,600 0
4. [=]uAAEd 3,800 1,800 2,000

1. &89 3,800 1,800 2,000 A& EHH] 400,000 53] = 2,000,000
3. 5o ds 1,500 1,500 0
1[5t E % 1,500 1,500 0
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IS Lo ARt 300 300 0
1. 0% H| 300 300 0
2.7 Bl - 13,750 8,050 5,700
1.[z]ugdmstA 4 12,050 8,050 4,000
1. g Hk=8H 1,200 1,200 0
2. W59 2,400 2,400 0

3 HETH 8,450 4,450 4,000|PCT-¢) : 1,000,000¢ 4= 4,000,000
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1. 05 H| 300 300 0
2.8}l 2 o v} 1,200 1,200 0
LIzt AAdsAdd 1,200 1,200 0
1.e9sa 1,200 1,200 0
3. 3ok A we 360 360 0
LI[z]AGHSEF4A 160 160 0
1. %89 160 160 0
2. [Z]kd S 200 200 0
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20208 A &= A = o AL Al A

1.95% 200 200 0
6.8k ko 73,983 73,240 743
1.A4 A §X 42,833 42,640 193
1. 3r Al ] f A 42,833 42,640 193
1.[2]3F8a2AAT = 19,007 18,814 193
1. d¥kEgH 500 500 0
2. A7) 87 11,000 11,000 0
3.4 FER 2,100 2,100 0
4 NEgFFaT 5,407 5,214 193| W 2T : 193,0009%13]= 193,000
2. [N HE &Y 2,967 2,967 0
1. 9Rk=-8-H] 2,967 2,967 0
3. [z IAE A rkg 17,619 17,619 0
1. 5371 A= A1 74 n) 667 667 0
2. dukEEH| 16,952 16,952 0
4. [z]3H#g 3,240 3,240 0
1. kg0 3,240 3,240 0
2.3 e #e 2,040 2,040 0
1.8 9999389 1,040 1,040 0
1.[Z]TuE9 9 93] 1,040 1,040 0
1.094] 240 240 0
2. 4Rkl Fx0] 800 800 0
2. 958249 1,000 1,000 0
LIz Ras 1,000 1,000 0
1.+95% 300 300 0
2. 0589 u| 700 700 0
3.8m7)% ¢4 29,110| 28,560 550
1.5-A471329 22,700 22,700 0
1.[2]wdd e 7,150 7,150 0
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20208H A = M=o AE AN

1. G970 4,150 4,150 0
2. AAFP A 3,000 3,000 0
2. [=]9REED 13,264 13,264 0
1. dRkp8n) 2,174 2,174 0
2788 T 8T 90 90 0
3.991] 11,000 11,000 0
3. [=]uFHE 2,286 2,286 0
L7 Al kA Q1 v 90 90 0
2. 48] 2,116 2,116 0
3. u A Q574 80 80 0
2. BARFAL LA 6,410 5,860 550
LIFIHFAY 3389 2 AAFHS 2,500 2,500 0
1.9 Rk8-] 2,500 2,500 0
2. [F1fA19 A8 A 2,510 2,260 250
1. gukgn) 2,510 2,260 250 A57] FrA RS 150,0009%13)= 150,000
F7134 8714 A9n] 1 100,000 #13]= 100,000
3. [HIFAAED 1,400 1,100 300
1.094] 1,000 1,000 0
2.8 H A H| 400 100 300 FEL o BEARE 1 300,0009)#13]= 300,000
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